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RESEARCH METHODOLOGY

1) The main purpose of research in education isto

2)

A) Increase social statusof anindividual

B) Increase job prospects of an individual

C) Hepinthepersonal growth of anindividual

D) Help the candidate become an eminent educationist

Random sampling is helpful asitis

A) Reasonably accurate

B) Freefrom personal biases

C) Aneconomical method of data collection

D) Allthe

above

P.T.O.
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isapreferred sampling method for the population with finite size.
A) Systematic sampling B) Purposivesampling

C) Cluster sampling D) Areasampling

The longitudinal approach of research deals with
A) Short-term researches B) Long-termresearches

C) Horizonta researches D) None of the above

Survey research studies
A) Events B) Processes

C) Populations D) Circumstances

Which of the following isNOT the characteristic of aresearch?
A) Researchis systematic B) Researchisnot passive

C) Researchisnot a process D) Researchisproblem oriented

A satisfactory statistical quantitative method should not possess one of the
following qualities

A) Hexibility B) Measurability

C) Comparahility D) Appropriateness
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Which of the following options are the main tasks of research in modern
society?

A) todiscover new things

B) tokeep pace with the advancement in knowledge

C) tosystematicaly examineand critically analysetheinvestigations/sources
with objectivity

D) 4l of theabove

“One of the methods of logical reasoning process’ is called

A) Induction B) Deduction

C) Research D) Experiment
Research is classified on the basis of and methods.

A) Purpose B) Intent

C) Methodology D) Techniques
Factsor information’s are analyzed and critical evaluationismadein
A) Survey B) Actionresearch
C) Analytica research D) Pilot study
Which of thefollowing isan example of primary data?

A) Book B) Journd

C) News Paper D) Census Report
Converting a question into a Researchable problem is called
A) Solution B) Examination

C) Problemformulation D) Problem Solving
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is a quality of Good Researcher.
A) Scientifictemper B) Age
C) Money D) Time
Hypothesis must have

A)  Applicability B) Dursbility

C) Tedtahility D) Measurement
Survey is a Study

A) Descriptive B) Factfinding
C) Andyticd D) Systematic

IS a type of conclusive research that has as its major objective the
description of something usually market characteristics or functions.

A) Exploratory research B) Conclusiveresearch

C) Causa research D) Descriptiveresearch

Summarizing raw data and displaying them on compact statistical tables for
analysisis

A) Tabulation B) Coding
C) Transcription D) Editing

In which sample population isdivided into different strataand sampleistaken
from different strata?

A) Quotasampling B) Snow ball sampling
C) Stratified sampling D) Purposivesampling
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Thefirst page of the research report is

A) Appendix B) Bibliography

C) Index D) TitlePage

In asurvey there is an enumerator and a

A) Guide B) Respondent

C) Supervisor D) Messenger

The main objective of study’s to acquire knowledge

A) Exploratory B) Descriptive

C) Diagnostic D) Descriptiveand Diagnostic
The original source from which researcher collectsinformationis

A) Primary Source B) Secondary Source

C) Both primary and secondary D) None of these

Sending Questionnaire to arespondent with arequest to complete and return

by post is called

A) Mail Survey B) Interview
C) Observation D) Pand
Action-researchis:

A) Anapplied research
B) A longitudinal research
C) A research carried out to solve immediate problems

D) Alltheabove
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SUBJECT SPECIFIC

In ahousing society, half of thefamilieshaveasingle child per family, whilethe
remaining half havetwo children per family. The probability that achild picked
at random, hasasibling is

A) 0.882 B) 0.667
C) 0.952 D) 0.712
For maximum power transfer between two cascaded sections of an electrical

network, the rel ationship between the output impedance Z, of thefirst section
to the input impedance Z, of the second section is

A) Z,=7, B) Z,=-Z,
C) z,=7; D) Z,=-Z]
Consider two real valued signals, x(t) band - limited to [-500 Hz, 500Hz] and

y(t) Bandlimited to [-1kHz, 1kHz]. For z(t) = x(t). y(t) the Nyquist sampling
frequency (in kHz) is

A) 1 B) 4
C) 3 D) 7
In a code-division multiple access (CDMA) system with N = 8 chips, the

maximum number of userswho can be assigned mutually orthogonal signature
sequences is

A) 7.99t08.01 B) 6.05to7.01

C) 8.05t09.01 D) 7.03t08.02

The volume under the surface z(x, y) = x + y and abovethetriangleinthe x -y
plane defined by {0<y <xand 0<x <12} is

A) 642 B) 864

C) 702 D) 403
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A depletion type N-channel MOSFET isbiased initslinear region for useasa
voltage controlled resistor. Assume threshold voltage V., = 0.5V, V = 2.0V,
V=5V, W/L =100, C_, = 10°*F/cm*and p_=800cm/V - s. The vaue of
the resistance of the voltage controlled resistor (in QQ) is

A) 500 B) 422

C) 644 D) 230

The phase marginin degreesof G(s) =10/ [(st0.1) (s+1) + (s+10)] calculated
using the asymptotic Bode plot is

A) 70 B) 65

C) 48 D) 73

For aparalel plate transmission line, let v be the speed of propagation and Z

be the characteristic impedance. Neglecting fringe effects, a reduction of the
spacing between the plates by afactor of two resultsin

A) havingof vandnochangeinZ  B) nochangeinvandhalvingof Z

C) nochangein both v and Z D) halving of bothv and Z

Consider sinusoidal modulationinan AM system. Assuming no overmodulation,
the modulation index (n) when the maximum and minimum values of the
envelope, respectively, ae3V and 1V, is

A) 03 B) 04

C) 06 D) 05

Themaximum value of the determinant among all 2 x 2 real symmetric matrices
with trace 14 is

A) 35 B) 55

C) 49 D) 25
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A series LCR circuit is operated at a frequency different from its resonant
frequency. The operating frequency is such that the current leads the supply
voltage. The magnitude of current is half the value at resonance. If the values
of L,CandRarelH, 1 Fand 1Q, respectively, the operating angular frequency
(inrad/s) is :

A) 0.53r/sec B) 0.45r/sec
C) 0.63r/sec D) 0.75r/sec
Assume electronic charge g = 1.6 x 10 C, kT/q = 25 mV and electron

mobility = 1000 cm?/V-s. If the concentration gradient of electronsinjected
into aP-type silicon sampleis1x10?t/cm?, the magnitude of electron diffusion
current density (in A/cm?) is

A) 2,000 B) 3,000

C) 4,000 D) 5,000

In an 8085 microprocessor, the shift registers which store the result of an
addition and the overflow bit are, respectively

A) BandF B) AandF

C) HandF D) AandC

Consider a four bit D to A converter. The analog value corresponding to

digital signals of values 0000 and 0001 are OV and 0.0625V respectively. The
analog value (in Volts) corresponding to the digital signal 1111 is

A) 09375 B) 08125

C) 0.7458 D) 0.6213
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Whichoneof thefollowing isaproperty of the solutionsto the L aplace equation:
v2f=07?
A) The solutions have neither maxima nor minima anywhere except at the

boundaries

B) The solutions are not separable in the coordinates
C) The solutions are not continuous.
D) The solutions are not dependent on the boundary conditions.

Anantennapointing in acertain direction has anoise temperature of 50K. The
ambient temperatureis290 K. The antennais connected to apre-amplifier that
has a noise figure of 2 dB and an available gain of 40 dB over an effective
bandwidth of 12 MHz. Theeffectiveinput noisetemperature T_for theamplifier
and the noise power P_ at the output of the preamplifier, respectively, are

A) T_,=169.36 K and P_ = 3.73x10"°W
B) T.,=136KandP_=3.73x10"W
C) T,=1825K andP_=3.85x 10™W
D) T.=160.62K and P_ = 4.6x10"°W

How many distinct values of x satisfy the equation sin(x)=x/2, where x isin
radians?

A 1 B) 2

C) 3 D) 4 or more

Thesmadler angle (in degrees) betweentheplanesx +y+z=1and2x—-y+2z=0
is__

A) 54.0t055.0 B) 25.0t030.0

C) 35.0t040.0 D) 45.0t050.0

The clock frequency of an 8085 microprocessor is5MHz. If the time required

to execute an instruction is 1.4 us, then the number of T-states needed for
executing theinstructionis

A) 1 B) 6
C) 7 D) 8
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A good transconductance amplifier should have

A)
B)
C)
D)

High input resistance and low output resistance
Low input resistance and high output resistance
High input and output resistance
Low input and output resistance

Which one of thefollowing statementsabout differential pul se code modul ation
(DPCM) istrue?

A)
B)

C)
D)

The sum of message signal sample with its prediction is quantized

The message signal sampleisdirectly quantized, and its prediction isnot
used

Thedifference of message signal sampleand arandom signal isquantized
Thedifference of message signal samplewithitspredictionsisquantized

What isthe isolation technique used in monolithic IC?

A)
C)

PN-junction B) Didectricjunction
Beam-lead junction D) All of thementioned

If a right-handed circularly polarized wave is incident normally on a plane
perfect conductor, then the reflected wave will be

A)
B)
C)
D)

right-handed circularly polarized
|eft-handed circularly polarized

elliptically polarized with atilt angle of 45°
horizontally polarized

The prefix code is also known as

A)
C)

I nstantaneous code B) Block code
Convolutional code D) Parity bit

In Adaptive Delta M odulation, the slope error reduces and

A)
C)

Quantization error decreases B) Quantization error increases
Quantizationerror remainssame D)  None of the above

0]0]0,
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